N&7-86 Gains and Losses

1. Write a plus sign (+) if the net result is a gain. Write a minus sign (~) if the net result

is a loss. .

a) again of $4 + b) alossof$2 c) againof$3__
d) againof$landalossof$4 - e) againof$4andalossof$2

f) alossof$2andagainof$3 g) alossof$5andagainof$t__

2. Write each sequence of gains and losses using numbers and signs (+ and -).
a) againof$3andalossof$5 +3-5 b) alossof$3andagainof$7 -3 +7
c) aloss of $5 and a gain of $4 " d) again of $7 and a loss of $6
e) aloss of $6, a gain of $9, a loss of $3, then a gain of $2 -6+9-3+2

f) again of $2, a gain of $4, a loss of $5, then a gain of $1

- g) aloss of $4, a loss of $7, a gain of $9, then a gain of $4

h) again of $3, a loss of $2, a loss of $1, then a gain of $4

3. Decide whether each sequence of gains and losses is a net gain (+) or a net loss (-).

a) +5-3 & b) +3-5 c) —4+3
d) —6+1__ - ~e) +9-8 fy +6-9
g -3+6 o h) —1+34 ' i) -8+35

4. How much was gained or lost overall? Use + for a gain, — for a loss, and 0 for no gain or loss.

a) +6-5=__+1 b) —4+3= c) +5-6=
d) ~-6+6= e) —3+5= fy +7-1=
9) +4+2= h) —3-1= ) -6-2=
) -64+2=__ k) +6-2=___ ) +6+2=
m) +3-8= ny -5+2= 0) +9-4=
p) -5+7= q) -3+3= N +8-87=

5. Group the gains (+'s) together and the losses (~'s) together. Then.write the total gain
and the total loss.

Q) +4-342=  1442-3 b) —344-2=
= -/-6-—3 =
Q) ~6+8-4 = d) +9-6+42=
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6. Circle all the gains first. Then group the gains (+'s) and losses (~'s).
Then say how much was gained or lost overall.

a) +7-6+2= | b)+5-7 4+ 4=

) -5—1@24: +34446-5-1-2-4

= +13-12

d) +6+3-4-5-84+2-1=

e) ~4+5+6-3-24+8-54+1-4=

so we can oanoel them ? "';. o

7. Cancel the numbers that make 0. Then write the total gain or loss.

a) B+7+3=_+7 b) ~5-2+5=

c) +3+4-3= | d) —6-4+6=

e) ~8+7+8= fy ~4+4+2=

g) +3+5-5=__ h) ~8-6+46=

) -7-8+7= ) +8-3+4+3-4=

kf =3+4+4+243-2= ) ~8+4+8-6+7-7=

m -4-3+2+3-2= )—5 44+4-345=__

0) +6-5-6-2+5=_ /Qzéiiui:izi§§g§_+4~5
these cancel —~1

9 -5+2+6-2+3+4+5-3= ) +8-10-4+7-2+4+10-7-4=

S) ~4-34+2-74+44+243=

©

Find the mistake in the cancelling. Circle the two numbers that should not
have been cancelled.
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